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5110-C 

M.A. (FINAL) EXAMINATION, 2019 

ECONOMICS  

Paper – V - C 

DEMOGRAPHY 

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each), 

selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M& v& v& v& v 

Q.1 Answer the following questions-  

 fuEufyf[kr iz’uksa ds mÙkj nhft,& 

 (i) What do you understand by Dependency Ratio?  

  vkfJrrk vuqikr ls vki D;k le>rs gSa\ 

 (ii) What conflicts are related to optimum Population?   

 vuqdwyre~ tula[;k fo"k;d fookn D;k gS\ 

 (iii) Discuss any two causes of population explosion in India.   

  Hkkjr esa tula[;k foLQksV ds dksbZ nks dkj.k crkb;sA  

 (iv) What is the difference between individual aging and population aging?  

  O;fDrxr vk;q ,oa tula[;k vk;q esa D;k varj gS\ 

 (v) What is difference between gross reproduction rate and net reproduction rate?   

  ldy iztuu nj ,oa 'kq) iztuu nj esa D;k vUrj gS\  

 (vi) What is crude marriage rate and general marriage rate?  

  v'kksf/kr fookg nj ,oa lkekU; fookg nj D;k gS\  

 (vii) What is Brain Drain?  

  izfrHkk iyk;u D;k gS\ 

 (viii) Give a definition of urbanisation.  

  uxjhdj.k dh ifjHkk"kk nhft,A   

 (ix) What do you understand by slum statistics in India?  

  Hkkjr esa Lye lead ls vkidk D;k rkRi;Z gS\  

 (x) Define human development index.  

  ekuo fodkl lwpdkad dks ifjHkkf"kr dhft,A  
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PART – B @ @ @ @ [k.M[k.M[k.M[k.M    & & & & cccc    

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 What do you understand by Neo-Malthusianism? Evaluate the same in context of 

present condition. 

 uo&ekYFklokn ls vki D;k le>rs gaS\ bldk orZeku n’kkvksa esa ewY;kadu dhft,A  

Q.3 Write a short note on meadows limits to Growth Model.  

 ehMksl ds lhekc) o`f) ekWMy ij laf{kIr fVIi.kh fyf[k,A  

UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 ‘Rapid population growth Acts as an impediment on India’s economic development. 

Discuss the statement.   

 rsth ls c<+rh tula[;k Hkkjr ds vkfFkZd fodkl esa vojks/k dk dke djrh gSA dFku dh foospuk 

dhft,A    

Q.5 How do you prepare an age pyramid? How would an age – pyramid for a developed 

country be different from an underdeveloped country?    

 ,d vk;q fijkfeM dSls cuk;k tkrk gS\ ,d fodflr ns’k dk vk;q fijkfeM ,d v)Zfodflr ns’k ds 

vk;q fijkfeM ls dSls fHké gksxkA  

UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 What is a life table? Explain various columns of a life table.  

 thou lkj.kh D;k gS\ thou lkj.kh ds fofHké dkWyeksa dks le>kb;sA  

Q.7 Write a short note on measures of mortality.  

 ej.k’khyrk ds eki ij laf{kIr fVIi.kh fyf[k,A  

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Differentiate between internal migration and external migration. What are the various 

factors affecting migration?  

 vkarfjd izokl ,oa cká izokl ds e/; vUrj crkb;sA izokl dks izHkkfor djus okys fofHké dkjd dkSu 

ls gaS\  

Q.9 Explain the main factors responsible for increasing urbanization in India.  

 Hkkjr esa c<+rs uxjhdj.k ds izeq[k dkjdksa dh O;k[;k dhft,A  
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UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 Explain the problem of gender inequality in India.  

 Hkkjr esa ySafxd fo"kerk dh leL;k dks le>kb;sA  

Q.11 Write a short – note on family planning in India.  

 Hkkjr esa ifjokj fu;kstu ij laf{kIr fVIi.kh fyf[k,A  

PART – C @ @ @ @ [k.M[k.M[k.M[k.M& & & & llll 

Q.12 Discuss the various methods of measuring population growth with examples.  

 tula[;k o`f) dks ekius dh fofHké fof/k;k¡ mnkgj.kksa lfgr le>kb;sA  

Q.13 Write an essay on the size, growth and occupational distribution of population in India.  

 Hkkjr esa tula[;k ds vkdkj] o`f) ,oa O;kolkf;d forj.k ij ys[k fyf[k,A  

Q.14 What do you mean by population projection? Write about the techniques of population 

projection.  

 tula[;k iz{ksi.k ls vki D;k le>rs gSa\ tula[;k iz{ksi.k dh fof/k;ksa ds ckjs esa crkb;sA   

Q.15 Write a short note- 

 (i) Effects of urbanization  

 (ii) Lee’s theory of migration    

 laf{kIr fVIi.kh fyf[k,&  

 (i) uxjhdj.k ds izHkko  

 (ii) yh dk izolu fl)kUr 

Q.16 “Census is the main source of population statistics in India”. Discuss this statement with 

examples.  

 Hkkjr esa tula[;k leadksa dk izeq[k L=ksr tux.kuk gSA bl dFku dks mnkgj.kksa lfgr le>kb;sA  

 

-------------------------------------- 

 


